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	1.
	The business philosophy that advocates determining what consumers want and need, and then designing products to satisfy those needs, is known as ________.

	A)
	consumer orientation

	B)
	self-sufficiency concept

	C)
	work ethic

	D)
	production concept


	2.
	The factors of production in an economic system are ________.

	A)
	land, rent, capital, and human resources

	B)
	capital, perseverance, natural resources, and human resources

	C)
	rent, wages, interest, and profit

	D)
	natural resources, human resources, capital, and entrepreneurship


	3.
	Businesses that operate in an environment where success or failure is determined by how well they match and counter the offerings of competitors are operating under ________.

	A)
	the private enterprise system

	B)
	a social democracy

	C)
	a monopoly

	D)
	socialism


	4.
	The right to profit means the ________.

	A)
	risk taker is guaranteed the right to all profits (after taxes) that are earned by the business

	B)
	right to go into or out of business at any point and for any reason

	C)
	government will guarantee a profit

	D)
	right to all benefits resulting from the ownership of property


	5.
	Which of the following is considered to be the most fundamental right of the private enterprise system?

	A)
	the right to private property

	B)
	the right to guaranteed profits

	C)
	freedom of choice

	D)
	the right to fair competition


	6.
	“Newman's Own” is a food product line that gives 100 percent of its after-tax profits to charity. This company is practicing ________.

	A)
	business ethics

	B)
	social responsibility

	C)
	customer satisfaction

	D)
	creativity


	7.
	When a business employs an outside company to handle all customer correspondence and phone calls, the business is ________ its customer service department.

	A)
	outsourcing

	B)
	branding

	C)
	multitasking

	D)
	shrinking


	8.
	Apple iPods sold on Amazon's Web site signify the formation of a ________ to increase profits.

	A)
	transaction alliance

	B)
	brand partnership

	C)
	strategic alliance

	D)
	marketing agreement


	9.
	Tarek, a former middle manager from Alexander Manufacturing, owns and operates a Subway franchise. Tarek is demonstrating ________.

	A)
	social responsibility

	B)
	socialism

	C)
	entrepreneurship

	D)
	pure competition


	10.
	Capitalism is founded on ________.

	A)
	the social changes that followed the Industrial Revolution

	B)
	the idea that 80 percent of the nation's wealth should be owned by no more than 20 percent of the people

	C)
	the belief that competition among business firms best serves the needs of society

	D)
	the idea that the government must own all factors of production


	11.
	When Google opened offices in Tokyo, London, and Sydney, they were utilizing ________ by relocating business activities to lower-cost locations overseas.

	A)
	nearshoring

	B)
	outsourcing

	C)
	offshoring

	D)
	employee sourcing


	12.
	When Target donates 5 percent of its federally taxable income to nonprofit groups, the company is highlighting its ________.

	A)
	social responsibility

	B)
	code of conduct

	C)
	social audit

	D)
	business ethics


	13.
	Timberland Company allows its employees to take paid six-month sabbatical leaves to work for nonprofit organizations. This is an example of ____________.

	A)
	corporate philanthropy

	B)
	green marketing

	C)
	whistle-blowing

	D)
	consumerism


	14.
	Roberto decides not to cheat on his exam because he fears he will be caught and receive no credit if he is caught. In which stage of ethical development is Roberto?

	A)
	postconventional

	B)
	preconventional

	C)
	traditional

	D)
	conventional


	15.
	Al makes a point of turning off the lights in his office when he is not using it because it saves his company money and saves energy for the environment. Which stage of ethical development is Al in?

	A)
	conventional

	B)
	postconventional

	C)
	preconventional

	D)
	traditional


	16.
	During the Olympics, several Nike ads were aired that demonstrated the company's sponsorship of various events. Nike was using ________ to align their marketing efforts with charitable giving.

	A)
	business ethics

	B)
	cause-related marketing

	C)
	social responsibility

	D)
	ethical awareness


	17.
	According to ________ standards, when a drug company purchases a television ad, the company is required to describe potential side effects of the drug, or at least provide a phone number or Web site address for additional information.

	A)
	Occupational Safety and Health Administration (OSHA)

	B)
	Food and Drug Administration (FDA)

	C)
	Consumer Compliance

	D)
	Securities and Exchange Commission (SEC)


	18.
	Jeffrey Wigand, a former executive of Brown & Williamson who exposed his company's practice of intentionally manipulating the effect of nicotine in cigarettes on the CBS news program 60 Minutes, had moved beyond self-interest and company duty to which stage of individual ethics?

	A)
	preconventional

	B)
	postconventional

	C)
	conflict of interest

	D)
	conventional


	19.
	Embellishing your résumé shows a lack of ______ and ______.

	A)
	honesty and loyalty

	B)
	honesty and integrity

	C)
	integrity and loyalty

	D)
	competence and loyalty


	20.
	Companies that adhere to high ethical standards ________.

	A)
	often make poorer investments in the long run

	B)
	always make higher profits

	C)
	often make better investments in the long run

	D)
	always make lower profits


	21.
	Jack Welch, former CEO of General Electric, is respected in business circles for focusing his company on the welfare of its customers and investors, and for ensuring GE would thrive in the long run. This type of environment is an example of ethical ________.

	A)
	action

	B)
	reasoning

	C)
	awareness

	D)
	leadership


	22.
	If the cost of producing a good or service increases, the supply curve will shift to the ________ and the price will ________.

	A)
	right; fall

	B)
	right; rise

	C)
	left; fall

	D)
	left; rise


	23.
	The purpose of a restrictive monetary policy is to:

	A)
	stimulate spending

	B)
	reduce the cost of borrowing

	C)
	stimulate employment

	D)
	curb rising prices and overexpansion


	24.
	Williams & Co. management is trying to decide the appropriate prices for various products sold by the firm. This is a focus of ________.

	A)
	microeconomics

	B)
	macroeconomics

	C)
	fiscal policy

	D)
	monetary policy


	25.
	The Federal Reserve slows the growth in the supply of money and credit. Interest rates will likely ________, which is an example of ________ policy.

	A)
	rise; monetary

	B)
	fall; fiscal

	C)
	rise; fiscal

	D)
	fall; monetary


	26.
	Many of the gains in U.S. productivity can be attributed to ________.

	A)
	technology

	B)
	deflation

	C)
	a steady consumer price index

	D)
	budget surplus


	27.
	A particular industry has many competitors, each of whom has little control over price. In addition, it is fairly easy to enter the industry. This industry is an example of ________.

	A)
	pure competition

	B)
	monopolistic competition

	C)
	an oligopoly

	D)
	a pure monopoly


	28.
	A particular industry has only a few competitors, who have at least some control over price. Entry into the industry is difficult. This industry is an example of ________.

	A)
	pure competition

	B)
	monopolistic competition

	C)
	an oligopoly

	D)
	a pure monopoly


	29.
	According to a supply curve, ________.

	A)
	as prices rise, quantity of a product supplied falls

	B)
	as prices fall, quantity of a product supplied increases

	C)
	as prices rise, the quantity of a product that is supplied also rises

	D)
	as prices rise, consumers will buy in larger quantities


	30.
	In general, as price of a good or service increases, the quantity demanded:

	A)
	decreases

	B)
	stays the same

	C)
	increases

	D)
	depends on the type of product or service


	31.
	The U.S. population is ________.

	A)
	getting older

	B)
	less diverse that it was 30 years ago

	C)
	declining

	D)
	expanding too rapidly


	32.
	________ is a commonly used measure of productivity.

	A)
	GDP (gross domestic product)

	B)
	Prosperity

	C)
	The business cycle

	D)
	The average wage


	33.
	________ has a blend of both planned and free enterprise system.

	A)
	Capitalism

	B)
	Communism

	C)
	A mixed market economy

	D)
	A private government economy


	34.
	A balanced budget occurs when ________.

	A)
	all of the national debt is repaid

	B)
	taxes, fees, and borrowings are equal to government spending for the year

	C)
	taxes and fees equal all government spending except for capital expenditures

	D)
	all federal taxes and fees equal all federal government spending


	35.
	Assume that the number of people wanting to buy homes increases sharply in your local area. The price of homes will likely ________, which is an example of ________.

	A)
	increase; demand-pull inflation

	B)
	decrease; cost-push inflation

	C)
	increase; cost-push inflation

	D)
	decrease; demand-pull inflation


	36.
	There is no direct competition in a particular industry, yet the firms have almost no control over pricing. This industry is an example of ________.

	A)
	monopolistic competition

	B)
	a regulated monopoly

	C)
	an oligopoly

	D)
	a pure monopoly


	37.
	Because of its climate and terrain, Guatemala possesses a ___________ over Canada in coffee production.

	A)
	absolute advantage

	B)
	higher standard of living

	C)
	higher GDP

	D)
	comparative advantage


	38.
	Amit, CEO of Charter Chemical, has recognized the financial opportunities in China. Amit has hired a foreign freight forwarder to coordinate selling Charter Chemical's products outside the United States. Charter Chemical is now involved in ________.

	A)
	overseas marketing

	B)
	international production

	C)
	direct exporting

	D)
	foreign licensing


	39.
	Even though the United States manufactures textiles, China is able to produce them more efficiently. Thus, China has a(n) ________________ in manufacturing textiles.

	A)
	tariff

	B)
	Quota

	C)
	trade restriction

	D)
	comparative advantage


	40.
	The hypothetical country of Eurica is experiencing severe competition to its domestic auto industry in the form of foreign imports. Many jobs are threatened. Eurica places a 25 percent tariff on the price of imported cars. This type of tariff is known as a(n) ________ tariff.

	A)
	revenue

	B)
	quota

	C)
	infant industry

	D)
	protective


	41.
	Companies such as Dell Computer adapt their Web sites to specific countries. These companies are following a(n) ________ strategy.

	A)
	international marketing

	B)
	orderly marketing

	C)
	global

	D)
	multidomestic


	42.
	A country has a good chance of selling more of its goods abroad if it ________.

	A)
	increases the value of its currency

	B)
	more tourists decide to travel abroad

	C)
	devalues its currency

	D)
	sets high tariffs on imported goods


	43.
	The hypothetical country of Austrica requires foreign companies that buy and sell Austrica products to use only Austrica currency in these transactions. Austrica is using ________ as a means of controlling international trade.

	A)
	governmentally granted rights

	B)
	exchange control

	C)
	international currency trading

	D)
	local banks


	44.
	A balance of payments deficit occurs when ________.

	A)
	the net inflow of money from abroad exceeds the net outflows of money to other countries

	B)
	imports exceed exports

	C)
	the net outflow of money from a country exceeds the net inflow of money from abroad

	D)
	exports exceed imports


	45.
	A trade deficit occurs when ________.

	A)
	imports are sold at low profits

	B)
	foreign-aid payments exceed exports

	C)
	imports exceed exports

	D)
	there is a net flow of money into a country


	46.
	A U.S. agricultural producer sells wheat to a small country in Africa. The country pays the U.S. firm in seafood. This is an example of ________.

	A)
	countertrade

	B)
	direct exporting

	C)
	foreign licensing

	D)
	international production


	47.
	Speedy Lube enters into a contract with a foreign company to produce and distribute its products in a specific geographic area. Speedy Lube is involved in ________.

	A)
	foreign licensing

	B)
	countertrade

	C)
	international production

	D)
	direct exporting


	48.
	An absolute advantage occurs when a country can maintain ________.

	A)
	a monopoly by outlawing foreign imports

	B)
	a monopoly by levying high taxes on imports

	C)
	a monopoly by being the lowest-cost producer of a good or service

	D)
	its advantage by producing a good or service more efficiently


	49.
	Berry Corp. sells microprocessors to an electronic equipment manufacturer in this country who then sells equipment containing the microprocessors to Japan. Berry Corp. is engaging in ________.

	A)
	international production

	B)
	foreign licensing

	C)
	countertrade

	D)
	indirect exporting


	50.
	A Canadian software company that specializes in developing computer games enters into an agreement with a Japanese software company. Under this agreement, the Japanese firm has the right to manufacture and sell the Canadian firm's games in Japan. This agreement is an example of ________.

	A)
	countertrade

	B)
	foreign licensing

	C)
	international production

	D)
	direct exporting


	51.
	A foreign-made household appliance is popular and is highly competitive with the same product manufactured domestically. To give the domestic industry a better chance to operate profitably, the government restricts the number of these appliances that can be imported by applying a(n) ________.

	A)
	import quota

	B)
	embargo

	C)
	protective tariff

	D)
	revenue tariff


	52.
	If Smith Steel buys Kennedy Iron Ore to assure itself of a constant flow of ore, this is an example of a ________.

	A)
	conglomerate company

	B)
	domestic company

	C)
	vertical merger

	D)
	subsidiary corporation


	53.
	The joining of Chemical Bank and Chase Manhattan Bank was an example of a ________.

	A)
	conglomerate merger

	B)
	horizontal merger

	C)
	vertical merger

	D)
	joint venture


	54.
	Which of the following is an advantage of a home-based business?

	A)
	greater visibility to customers

	B)
	lower costs

	C)
	less flexibility

	D)
	isolation


	55.
	Which of the following is a trend in the area of franchising?

	A)
	More franchises are opening outside the United States.

	B)
	Franchises are becoming less expensive to fund.

	C)
	Franchisees determining their own pricing and marketing.

	D)
	Franchisees are able to negotiate better pricing than franchisors.


	56.
	Lucia is a chief financial officer in a large corporation. Her responsibilities include the full financial authority to make appropriations and authorize expenditures. Lucia is likely to be a member of ________ management.

	A)
	Middle

	B)
	advisory

	C)
	supervisory

	D)
	Top


	57.
	Assume that Microsoft decides to invest some of its excess cash by acquiring fellow Seattle-based Starbucks Coffee. This would be a ________.

	A)
	conglomerate merger

	B)
	vertical merger

	C)
	horizontal merger

	D)
	joint venture


	58.
	________ are business organizations or groups of private individuals who invest in new or growing firms.

	A)
	Angel investors

	B)
	Entrepreneurs

	C)
	Intrapreneurs

	D)
	Venture capitalists


	59.
	After starting a web design company while still in college, Rodrigo sold the company after graduation. He then opened a computer repair shop; and most recently, he has started a marketing firm that specializes in social media. Rodrigo is an example of a(n):

	A)
	serial entrepreneur.

	B)
	social entrepreneur.

	C)
	lifestyle entrepreneur.

	D)
	classic entrepreneur.


	60.
	Which of the following is a major consideration in selecting a business idea?

	A)
	Make sure no company is currently offering the product/service.

	B)
	Select something that appeals to people around the globe.

	C)
	Find something you love to do and are good at doing.

	D)
	Choose a product/service that is inexpensive to sell.


	61.
	Studies indicate that most entrepreneurs spend ______ on their new business.

	A)
	less than 30 hours a week

	B)
	about 40 hours per week

	C)
	more than 60 hours per week

	D)
	weekends only


	62.
	Paterno routinely bids on contracts even though most of the other bidders are extremely large firms. Paterno believes his company offers better service at lower prices. He is exhibiting which personality trait common in entrepreneurs?

	A)
	creativity

	B)
	tolerance for failure

	C)
	high energy level

	D)
	self-confidence


	63.
	Dina is a single mother who is required to work evenings and weekends at a local retail store. She is thinking of starting a consulting business primarily so she can ________.

	A)
	become her own boss

	B)
	increase her job security

	C)
	guarantee her financial success

	D)
	enjoy a higher quality of life


	64.
	Franz and Arlene had an idea for a different type of ice cream. They struggled to open their own small business, and later, to expand production and distribution. Their products are distributed nationwide and their sales continue to increase. Franz and Arlene are examples of ________.

	A)
	serial entrepreneurs

	B)
	classic entrepreneurs

	C)
	change agents

	D)
	social entrepreneurs


	65.
	Collin works for a large bank that recently merged with another financial institution. Word of layoffs has been discussed. Collin is most likely to become an entrepreneur in order to ________.

	A)
	become his own boss

	B)
	obtain job security

	C)
	succeed financially

	D)
	improve his quality of life


	66.
	Katherine is a successful entrepreneur. She stays close to her customers and is constantly looking for effective strategies. She is also willing to make adjustments when necessary. Katherine is demonstrating ________.

	A)
	internal locus of control

	B)
	creativity

	C)
	Vision

	D)
	tolerance for ambiguity


	67.
	Damien is working on a project where he needs to anticipate future events and conditions, as well as avoid costly mistakes. Damien is engaged in the ________ managerial function.

	A)
	controlling

	B)
	planning

	C)
	organizing

	D)
	directing


	68.
	When Carla instructs new employees on handling customer complaints, she motivates them to respond with patience and a positive attitude. Carla has effective ________ skills.

	A)
	Human

	B)
	conceptual

	C)
	intuitive

	D)
	visionary


	69.
	Rosetta classifies and divides work into manageable units by determining the specific tasks necessary to introduce a new product. Rosetta is involved in the ________ managerial function.

	A)
	organizing

	B)
	controlling

	C)
	directing

	D)
	planning


	70.
	A company that is based on a direct flow of authority from the top executive to subordinates is known as a ________ organization.

	A)
	Matrix

	B)
	functional

	C)
	Line

	D)
	line-and-staff


	71.
	What is the first step in the strategic planning process?

	A)
	Create a mission statement.

	B)
	Monitor and adapt plans.

	C)
	Assess competitive position.

	D)
	Develop strategies for reaching objectives.


	72.
	American River Furniture Manufacturing's departments include cutting, staining, varnishing, drilling, shaping, and assembling. These departments are based on ________.

	A)
	Process

	B)
	product

	C)
	function

	D)
	customer


	73.
	Jackie is a manager who spends most of her time in day-to-day decisions assigning non-managerial employees to specific jobs. Jackie is considered a ________ manager.

	A)
	Staff

	B)
	technical

	C)
	supervisory

	D)
	mid-level


	74.
	Lupe's job duties include such tasks as deciding whether or not to introduce a new product or enter a new foreign market. Lupe is most likely a member of ________ management.

	A)
	Middle

	B)
	Top

	C)
	supervisory

	D)
	Line


	75.
	Which of the four functions of management creates a well-designed road map of the actions needed to lead a company forward?

	A)
	organizing

	B)
	directing

	C)
	controlling

	D)
	planning


	76.
	Minnesota & Iowa Railway has plans in place to reroute trains in the event that floods or other natural disasters close some of the railroad's tracks. This is an example of ________ planning.

	A)
	contingency

	B)
	Tactical

	C)
	strategic

	D)
	operational


	77.
	As someone moves up the managerial hierarchy, which skills become relatively more important?

	A)
	technical skills

	B)
	human skills

	C)
	conceptual skills

	D)
	supervisory skills


	78.
	Democratic leaders ________.

	A)
	are always the most effective leaders

	B)
	let people know only what they need to know to do their jobs

	C)
	involve their subordinates in making decisions

	D)
	leave all decisions to their subordinates


	79.
	First-line managers interact continuously with members of the work team. Therefore, they must possess effective ________ skills.

	A)
	visionary

	B)
	Human

	C)
	conceptual

	D)
	technical


	80.
	Hewlett Packard (HP) is subdivided by its different lines (such as laptops, desktops, mobile devices, printers, and servers). HP is departmentalized by ________.

	A)
	Process

	B)
	function

	C)
	product

	D)
	customer
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